Introduction
@

IFCsIC

The ROBOMASTER™ S1 is an educational robot inspired by the DJI™ RoboMaster competition. The S1 offers comprehensive
control and an immersive driving experience, thanks to the omnidirectional chassis, agile Mecanum wheels, flexible gimbal,
and stable, low-latency image transmission in first person view (FPV). Users can also target objects and battle other robots
with the S1's blaster.

The S1 supports Scratch and Python programming. With DJI's project-based graded tutorials, users can gradually master
programming theory and robot system knowledge.

The S1 features Solo mode and Battle mode where users can practice their skills and compete against others. To control the
robot, users can choose from the RoboMaster app on a mobile device, the gamepad, or the keyboard and mouse.

RoboMaster™ $1 2—3REF DJI™ RoboMaster LLEI ISR BB AN . TEERHNECNBL LAER. B
BN GIREMERNNERE RS, LRFHRBIRERA FPV IRITEIRFISLHEI TR .

S1 3285 Scratch 1 Python #i2, AP RIEIIMEXMSHIZZE L ZEHFZBICTINRARRIIR .
S1EZBRNBSPNS ARKER, Ba2iui. AP AEA%%E RoboMaster App H9ahig&E . FM. BERIR
FHIEEA

ROBOMASTER™ S1 i&. DJI™ RoboMaster I>7 R kA SEENBBEAITORY F T, @HAY v—  BiExE X
AT LKA =)0/ TEICENES BT >INV RED DELED D5 FPY OBEIREREIC K Y ST IS EIEHGHIENE S &R
TN BERENRBRAIRIH L E T, K2 S1 DT T XZ—EE> T AMOORY FEES VST EETEEXY,
STITIE. Scratch & Python 7O 7 S AICHIELTWE T, DIDTOY 1Y bR—XDEMEMEF 12— MU 7)WLy,
TOUSLERPORY YR T LAOMBRERRICEETEET,

STk, VOE— FOEEE— F#ELAD Y. I—F— I XFIVTH UEE L. fIOAEBRET D EATEET, OR
v b OBIEITIE. B/NA)VIRER ETD RoboMaster 7 71U 7 — L\ R, FfeldgF—R—REXTRADSBIRTEL T,

In the Box
m [—F=3
anB
[EHE YD
Check that all of the following items are in your package. If any item is missing, contact DJI or your local dealer.
FERAFRZE, BRErnEEANREEEUTHEYR. EEHRE, BER DJ BN ERS.

UTFORED/ N r—IIINTHI D TWABDCHRLIEEL, BTN TWEVRELNH2HEIE. DI EidER
1 DRFEEICTES S EEW,



Top Layer:
%_E:
LEES

x1 x4 x48 (+2)* x1
A1 A2 A3 A4 A5
Chassis Front Armor Mecanum Wheel Mecanum Wheel Damping Mecanum Wheel Roller Grease
ESEEIESEE Mounting Plate Ring ERIRT etz
Vv —VEHT =X — EER BT ANFLRA=)b D=5~ JI)—=Z
AAFLRA =)V BRI AAF LKA —)U HIEER
37—t
B Cc
N 4
x1 x1 x1 x4 x4
B1 B2 B3 C1 c2
Motion Controller Bottled Gel Beads Screwdriver Handle M3508I Brushless Motor Motor Mounting Plate
IEENIEHIRE HRAEXKERE BR2L TN and ESC . FEHEE
t—-Ya3arvarirno TV (REED) taCE L DR M3508I TRl E—2—RIUMFFTL—F
-7 M35081 75 L AE—

* (+x) refers to the quantity of spare items included in the package
HHEIEED Xo
[CEENBANTBMHDOHEERLET,

(+x) EROERBEHYRE,

(+X) W ISy =

2

2 —& ESC



Wiy,

x1 x1
D1 D2 D3 D4
Screw Box Safety Goggles X-Shaped Front Shaft Cover Cable Retainer
(2525 FER X B [ElRE
RLCPHIRY 7 & ZeId—7J) XBRIHY v 7 b AN— r—7IVEER
E
x1 x1
E1 E2 E3 * Varies by region.
Intelligent Battery Charger Intelligent Battery AC Power Cable* LYIRBIERBEARE o
FEFERE Heermith FEFERE AC £ HEIC &Y BEUET
ATz NNy T ATV NNy T — ACERT—7IL*
F
x2 x2
F1 F2 F3 Fa
Left-Threaded Inner Hub Left-Threaded Outer Hub Right-Threaded Inner Hub Right-Threaded Outer Hub
EIRRIER EIEIMNEER AIRNEER ALESMLER
EBEAVF—INT EBETOR—INT BEEAVS—NT BEETOR—IN\T
G
@) ]
— :
x4 x1 x7
G1 G2 G3 G4
Damping Ring Bracket Chassis Cabin Cover Masking Tape Vision Marker
HREISZR FReE SEO MBAREE
HEET 7w b Yy —YEvEVAN— RAFVIT=7 Evarvs—h—



N Manuals
E + Quick Start Guide
- Disclaimer and Safety Guidelines - At a Glance

XA Zarb
B SE NN () A VIRE—IHAR
- REFPINREME CRBERBEERLICEITBZAHMRS1 - BE

e
The screw box includes the following items: @
BUARDALUTNG: ®10]O ®
RCER Y 7 XiciE. ROBEHASTVWET :
@],
=
=
x1 x2 (+1)* g x60 (+4)*
Front Rubber Stop T3 Screw M3-B Screw M3-A Screw
@ R @ T3 184 @ M3-B 1242 @ M3-A 1242
707 dLig T3RL M3-BRa M3-AR L
x21 (+2)" 4(+1)" / x1
T2 Screw M4-B Screw M4-A Screw Rubber Shock Ring Screwdriver Bit
@ T2 184 @ M4-B 1242 @ M4-A 1242 IR #Re27)3k
2R M4-B 13 C M4-A R FHRRINIL) VYT RCEILALY b
N

* (+x) refers to the quantity of spare items included in the package
(+x) EREEND SRS BIERHED x.
(#X) W I =V EENBARTHROBBERLET,

4




Bottom Layer:
BR:
TR :

* Attached to the chassis cover

H1 H2 before delivery. 11
Chassis Cover Chassis Middle Frame* HIRBS RS, Intelligent Controller
EEas JEEARIE WIS =3 A RS Bhghiz
Y= hIN— Iy —TVHRRT L NTVET, A7)z harbA—=5—
K
x1 x1
J1 J2 K1 L1
Front Axle Cover Front Axle Module Base Gimbal Camera
A L& RIE =8 LERI)
BI75 88/ \— AAEEHEY 1 —IbN—R AVl AAZ
x1 x4
N1 N2 N3 P1
Blaster Gel Bead Container Speaker Hit Detector
KSR BE Hregs TR
TZR8— FIVERAD AE—H— Ev MY —



& < a2 ]
x1 35cm x1 23 cm x2 12cm x4
Qt Q2 Q3 Q4
Camera Cable Data Cables
TEVIERES iR
AAZTr—=TIb T=2r=I

x1 x1
Q5 Q6 Q7
Chassis Rear Armor Chassis Left Armor Chassis Right Armor
AR A% ERARR
TR —YEHT R~ Y —VERT—X— Y —VERT X

Downloading the RoboMaster App and Watching Tutorial Videos
T # RoboMaster App FIIREHFMLT
RoboMaster 7 7V DA vAO—F&EFa1— MU TIVET A DEEE

« Search for the RoboMaster app in the App Store or Google Play or scan the QR code to download the app on
your mobile device.

« Visit the official DJI website https://www.dji.com/robomaster-s1/video or go to the app and enter the Guide page to
watch the tutorial videos for assembly and use. You can also assemble the robot according to the assembly guide in
the quick start guide.

o [FRBIISEEREEESIIE 4568 T %% RoboMaster App.
« £ App BTUH AN “F83|7 IEDIAIE DJI B ML hitps://www.dji.com/robomaster-s1/video $REXNZZEASN, B&
AR, o, WEEMBENM T BERSE.

+ App Store & fzld Google Play T RoboMaster 7 U Z&FR T 5H QR I— FEZXF v LT, BFHEDE/NA
IVIERICT T EL D> A—FLET,

« Fa1—MUTIWETHEREELCY, BITTRFERAAEICETEINEZA T O—FLIEVT2IcE. ARDI VT
T4 b https//www.djicom/robomaster-s1/video lZ7 7 Z R G BH\ 7 T U DS HA RR—INT 7L AL TLIEEL,
I TROXEL/ Ny r—IICERENTVET,



& ¢ The RoboMaster app supports iOS 10.0.2 or later or Android 5.0 or later.
« Users can also download the RoboMaster software for Windows from the official DJI website on a computer to control the robot
with a keyboard and mouse. https://www.dji.com/robomaster_app

* RoboMaster App ZE3k{#FH i0S 10.0.2 BLAEE%; Android 5.0 RLAER% .,
* FFIREIERITENM DI BT E Windows hRZAHY RoboMaster #f4, Mifni@id A2 BEAREHINEEA . https://www.dji.com/robomaster_app

* RoboMaster 77 71 (&, i0S 10.0.2 L& & Android 5.0 MEEICHISE L TLE T,
e oo A—H—IFQKDO DI T THA FH S Windows FAD RoboMaster ¥V 7 b Uz 7& AU O—RL, /A AV ETHF—FR—FPHPT
DRZEEOTARY FEBRET DT ELTEES, https//www.dji.com/robomaster_app

@’ After assembly, use your DJI account to activate the robot in the RoboMaster app. Activation requires an internet connection.

Inernet RISTRE, FfERA RoboMaster App BUENEEA . MIERTBRRBINREILUENEEMN o
#HHIITH. RoboMaster 77U TORY hET VT4 N—2 3§ 5ICld. TEEBDDNTHYY bEFEWNET, 7774 X—2 3 v(Tid
AV B =2y MERDUETY,

RoboMaster App Tutorial Videos
RoboMaster App AR
RoboMaster 77 71 Fa—rUTIVETH

Specifications
AR
Structure Intelligent Battery
Dimensions 320 x 240 x 270 mm (L x W x H) Capacity 2400 mAh
Weight Approx. 3.3 kg Charging Voltage 126V
Intelligent Controller Battery Type LiPo 3S
Operating Frequency 2.4 GHz, 5.8 GHz, 5.1 GHz (limited to indoor use) Energy 25.92 Wh
518 BReRith
BNRT 320%240%270 mm (K X 8 x & ) a8 2400 mAh
B8 #13.3 kg FEERERE 12.6V
Beepiz EjthzERy LiPo 3S
TRSMER 2.4 GHz, 5.8 GHz, 5.1 GHz ({XBREPIER ) BeE 25.92 Wh
1B AYFUITV Ny T~
PEPN 320 mm X 240 mm X 270 mm BE 2400 mAh

(REXBXEE) BEE 126V
EE # 3.3 kg Ny T 1) =247 LiPo 3S
AvF)yzrbarvibo—3— EBhE 25.92 Wh
BRI 24 GHz, 5.1 GHz (BRERICRS) .

5.8 GHz (HATIEERARE)





